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Gt!nual Instructions : l' 

Read the following instructions very Cfl'e/ully and striclly follow them : 
(i) This que.,tio11 paper comprises 39 quesiions. All questions art! ,. 

compulsory. 
(ii) This question paper is di~Jded into jivt! sections -A, B, C, D and E. 

(iii) St!ction A - Question Nos. J to 20 are multiple choice type questions. 
Each question carries I mark. 

(iv) St!ction B - Question Nos. ·21 to 26 are very short answer type questions. 
Each question carries 2 marks. Answer to these questions should be In the 
range of 30 to 50 words. . '") ..,_ 

(v) St!CJi~n C- Q_uestion.Nos. 27 to,33 are shor(.answer type-questions. Each 
question carries 3 marks. Answer to these questions should in the range 
of 5.0 to 80 words. • • • 

(vi) Section D - Question Nos. 34 to 36 ar_e tong answer type questions. Each 
question carries 5 marks: Answer to thesJ questions should be 
range of 80 to 120 words. .. _.,. -. 

(vii) &ct/011 E -p,Question Nos. 37 tq_']jj} are of 3 sou,ce",l,bsedlcas 
units of assessmenllcarr;:in, 4 marks each :t"i!h SUb-f!U.tS. 

(viii) There is no overall choice. However, an internal choice h 
provided in some sections. Only one of the 'alternatives ha 
attempted in such questior,is. < fr • I 

SECTif>N - A -t 
~ and write the most appropriate option out of the four options given 
for tacb of the questions 1 to 20. There is no negative; marking for wrong 
answer. Each questioiu:arries 1 mark. •• .. . . 
1. Which one of the following gets biomagnified at different levels in a food 

""" • • I 'i'"-,. • r 

"' 

chain? "' ~. 1 
(a) Carbon monoxide 

~· (b) CFC's 
(c)· DDT 

r 

(d) ... Manure .,,.. r; • .,, 
2. In the food chains given below. Select the most efficient food chain in 

terms of energy : 
(a) Grass ➔ Grasshopper ➔ Frog ➔ Snake 
(b) Plants ➔ Deer ➔ Lion 
(c) Plants ➔ Man 
(d) Phytoplankton ➔ 2ooplankton ➔ Small Fish ➔ Big Fish 

~4?• wro~ 



(a)~ 

(b) ~ 

(c) ~ 
(d) ~ • I 

4. ~~M'«la~~~"IIT'fil~~~ ·x•~w.11t,~ 
f.\Tfa ~: 'ilfm ~ ~ -;;mn t m ~ • x· t , 
(a) ~~ 
(b) "Jm'lml 

(c) fflcf;T~ 

( d) ffi <liT ni\m 

s. ~ 'R' ~ M <ITT~~ "ifiT ~ ii (~) "ifR ~ ,wit ii~ 
~t, -r,rift:ii ,wn"ififfq;{mlfil~~~t, ~~~<lil~ 
~ R' t, <IT R/R' <liT 1l'R ~ : 

(a) 1/9 

(b) 1/3 

(c) 3 

(d) 9 

6. AL-l~f&a :f -a~ ~~ii ~ ~-=l'tf m<ft t? 
(a) 'lfifmil<iiP.l<IT'l"<l<~"ifiTW!l~~~ 
(b) 3llW <lit f.i;1rcR 

(c) ;rift~~ ii M 3Wl"'"p#;\ ~ <liT WIT~ 
(d) ~ (~) <lilfi\t@:n 

I I 

rl 

7. ~~il~~~~ol'::fR~~~~<!il,P;l<li (~) 

I . 

:i-al -a ~ -;;JTaT t ~ ~ ~ i : 1 
(a)~~ 

(b) ~~ 
(c) ~'I t:1$~Tiftli$& 

(d) ~~ 

•3114/3" • I\ -
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An clement •M· has 25% of the electrons filled in the third shell as in the 

second shell. The clement 'M' is: 

(a) Sodium 

(b) Magnesium 

(c) Aluminium 

(d) Calcium 

4. An optical device 'X' is placed obliquely in the path of a narrow parallel 

beam of light. Jf the emergent beam gets displaced laterally, the device 

s. 

...... 
·x· is: 

(a) plane mirror 

(b) convex lens 

(c) glass slab 

(d) glass prism 

A piece of wire of resistance 'R' is cut lengthwise into three id~ntical 

parts. These parts arc then connected in parallel. If the equivalent 

resistance of this combination is R', then the value ofR/R' is: 

(a) 1/9 

(b) 1/3 

(c) 3 

(d) 9 

6. In which one of the following situations a chemical reaction does not 

occur? 

(a) Milk is left open at room temperature during summer 

(b) Grapes get fermented 

(c) An iron nail is left exposed to humid atmosphere 

(d) .Melting of glaciers 

7. In order to prepare dry hydrogen chloride gas in humid atmosphere the gas 

produced is passed through n guard tube (drying tube) which contains : 

(a) Calcium chloride 

(b) Calcium oxide 

(c) Calcium hydroxide 

(d) Calcium carbonate 

'31/4/3" • [P.T.O.J 
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8. S /eel from the following a hydrocarbon ha . ------
-

e 

vmg one C-c "~- . ~ 

C:C bond : 

bond and one 

l 9. 

(a) Benzene 

(b) Cyclohexane 

(c) Butync 

(d) Propyne 

The essential element taken up from the soil by the plants lo 

. . 

5Ynlhcsize 

proteins 1s : 

~ 

(a) Phosphorus 

(b) Nitrogen 

(c) Iron 

(d) Magnesium 

10. The minimum number of identical bulbs ofrating 4V; 6W, that can work 

safely with desired brightness, when connec~ in series with a 240 V 

mains supply is : 

(a) 20 

(b) 40 

(c) 60 

(d) 80 

11. An electric bulb is rated 220 V· 11 W Th . 

• 
• • e resistance r • fil 

It glows with a power supply of 220 Vis : 
o Its I amenr when 

(a) 4400 n 

I 

(b) 440Q 

(c) 400 n 

(d) 20 Q 

•311413 • • A 
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,af-w, ~ ~ C-C =~ ~ "Q.<f; C=C 

(a) ~ 
(h) t11$<ii:-i',~<Rh 
(c) ~ 
(d) ~ 

9. mir-n~~~~tfttitmilf<:l~ml~cl@l~rn<lt: (a) ~ 
(b) ~ 
(c) ~ 
( d) ~•-11a 1<111 

10. 240 V <t'\ ~ IDU ~ ~ '1fR -q,: 4V; 6W ~ ~ <fitf ~ qiit ~ ~ ~ q,1 Wlft it~ f<f;m ~ ~ ffl ~ criftrn ~ ~ Wf'~ ~ "B <nT<f <fit ? 
(a) 20 

(b) 40 

(c) 60 

(d) 80 

11. ~ ~ ~ clil ~ 220 V; llW t1 220 V <t'\ ~ ~ IDU 

l 

~ ~ "1"R "ll1: ~ ~ ~ ~ (~) clil ffliltl ~ mot t? l 
(a) 4400 n 
(b) 440 n 
(c) 400 n 
(d) 20 n 

*31/4/3* 
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I11I1,UIIIIIIIIIU . .,,,~, ,). """' if ~ if -a ~ "'""' ~ ' " ,,...f},,,J~~~mn~~,wii~;,1~t;;i\at.iif~ ~ifwraii, 
R. ~if~'ITTflif~,"lllir-!3/n~~m"ifttl C. ~ if~ <mil if~, "lllir-! 3/n <'!Tc'!~~ m"ift t I D. 'ffifiq;y ~ ~ <f;) mi1: ~ ~ ,wil ~ B "l1<ft t ;;i\ at.I ii~ ftm~ ~ i I 

Fil~~•= 
(a) A 3ffi B 

(b) B 3ffi D 

(c) A 3'itt C 
(d) C 3'ltt D 

13. ~ 3'ltt ~ ~ -.fttil ~ f.lqf'B!Tila if -a~ '3(q;{~ ~ IS'lfi1l m -tit? (a) 3'&f 
(b) ~ 
(c) .fF;r 
(d) -q;a 

14. ;;r-r"'R{~~~-.ftt:ll<f;Yl'.R:1:~~~-q'im~mlf~~~t,m 

7 

F 1 ~ F2 ~ ~ 1R1: ~ -.ftm ih_,,~ 1'.R:1: ~ -q'im ~ ~ m,-ft ~:- l (a) 100%; 25% 
(b) 100%; 50% 
(c) 100%; 75% 
(d) JOO%; 100% 

1 s. :1~ ss:p:f -;n: ~~~mat? 
(a) quryq;m 
(b) ~ 
(c) ~ 
(d) ~ 

"31/4/3"' 
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12. Sclccr TRUE statements about lymph from the following: 

A. Lymph vessels carry lymph through the body and finally open into 

larger arteries. 
B. Lymph contains some amount of plasma. proteins and blood cells. 

c. Lymph contains some amount of plasma. proteins and red blood 

cells. 
o. Lymph vessels carry lymph through the body and finally open into 

larger veins. 

The true statements are 

(a) A and B 

(b) Band D 

(c) AandC 

(d) C and D 

13. Plants like rose and banana have lost the capacity to produce : 

(a) flowers 

(b) buds 

(c) seeds 

(d) fruits 

14. When a pure-tall pea plant is crossed with a pure-dwarf pea plant, the 

percentage of tall pea plants in FI and F 2 generation pea plants will be 

respectively : 

(a) 100%;25% 

(b) 100%; 50% 

(c) 100%; 75% 

(d) 100%; 100% 

IS. In a bisexual flower the male gametes are present in the : 

(a) anther 

(b) ovary 

(c) stigma 

( d) filament 

1 
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16. 20cmm.-i~;l; fif..ftffi!cfi1Jmm~q'"{-J ~cfi1~il'Jti! 

~;l;~~-~"ITT:fl~: 

(a) 20 crn il <fill 

(b) 30 cm 

(c) 40 cm 

(d) 80 cm 

m mm 11 "ll 20 nifi JTTffiJieR <A> am q;m,r <R> °ql 3nUTfur m f I fl 
~ t '3t!l ~~(a), (b), (c) am (d) lt 'R 'lftra ~ ~ ~: 

{a) ;i,mw, (A) 3iTi: ~ (R) c:r-il ml! 3iTI; ~ (R), ~(A)~~ 

olffi9llT iii@! ! I 

(b) ~ (A) 3iTi:~ (R)c:r-i!mtt ll9~(R)~ (A)~lltt 

oll1&n ~iii@!! I 

(c) ~(A)~t 119~(R)7R'li!!I 

(d) ~ (A)7R'li!i, 119~ (R)~!I 

17. ~ (A) : ~ -ij ~<Ii!~~ ~ (~) t J'6l!1'lR ifl1l 

mi~mmi, 
q;rorr (R) : ~ "fflT -ij ~ ~ ~: 1tIT WITT t I 

18. ~(A): ~ ~3TI -ij ~. ~3TI t mR t $r,i m,jf -ij 

3ffi!T-fi -a 'W' W t I 
~(R): 'fcffi1ffi~-a~~~m'Rtmo<li~ 

!1 

19. ~(A): W•~cfil~<@<lil~tfft-tfftom~<lil J 

Wffim 6 ~ <@TTR!Jlli{ ~ ol@ltl 

"lfin1II (R) : W. ~ <@j 3lffiR1 -a~ .rraT t I 

20. ~<A>= m ~ ffi t fir;;q ifU .rni w -ij ~~ (lift~) m 
.rrar t I 

~ <R> : o!il '1!i1f m ll<lim ~ mtt ffi t fir;;q -a ~ t err "ffi'R 

ll<lim f.\t:@l! ~ t oin W l1<lim ~ ~ t1 

"3114/3~ 
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11 image of magnification -1 on a screen u.s· ----------

J6 To get a 

ang a lcn- ~- ------
--

• h 20 
cm the object distance must be : 

• or f0car 

Ieng! ' 
(a) Less tJ,an 20 cm 

I 

(b) JO crn 

(c) 40 cm 

(d) 80 cm 
. • 11 to 20 consist of two statemen~s - Assertion (A) •nd R~o,. (R 

Question r;os. . selecting the appropriate option (a), (b), (c) •nd (d ). 

Answer these questions 

"Gli ) a, 

given below : 

. 

. ) d Reason (R) arc true, and Reason (R) 1s the correct 

(a) Both, Asscruon (A an 

explanation of Assertion (A). 

. d R (R) are true, and Reason (R) is not the 

(b) Both, Assertion (A) an eason 

com:cr explanation of Assertion (A). 

(c) Assertion (A) is true, but Reason (R) is false. 

(d) Assertion {A) is false, but Reason (R) is true. 

11. Assertion (A) : In reptiles, the temperature at which the fertilized eggs 

are kept decides the sex of the offsprings. 

Reason (R): Sex is not genetically determined in some animals. 

18. Assertion (A) : In large animals, oxygen can reach different parts of the 

animal's body easily. 

Reason (R) : Respiratory pigments take up oxygen from the air and 

carry it to body tissues. 

19. Assertion (A): Concentrated nitric acid is diluted by adding 

slowly to ~cid with ctinstant stirring. 

Reason (R) : Concentrated nitric acid is easily soluble in water. 

water 

io. Assertion (A) : White light is dispersed by a gl . 

colours. 
ass prism into seven 

Reason (R): The red light bends the least while th . 1 

when a beam of white Ii 
e vm et the most 

ght passes through a glass prism. 

fP.T.O.J 

I 



I lalli a11u Ullllll 
'@VJ - l!J --\ 

11 
'l1R 'ITTPn 21 1l 26 ifin J!fm:rg-~ y;m;); 'll'F i I ~ 'llT-' 2 3fiii <fit t I 
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SECTION-B 

. 
21 

26 arc very short answer typ~ questions. E~ch question 
Qucsuon Nos. 10 

c.arries 2 marks, 
e co111pound used in block a~d white photo~phy_- S~tc ~hct.hc-r 

21, Name th. curs is exothermic or cndo\bcrm1c. Give JU.Shfication 
the reocuon that oc 
for your answer. 

he formation of calcium chloride by the transfer o~~\cctrons 
22. (J\) Show 1 

1 to the other. Atomic Number of calcium and 
from one elcmcn 
chlorine is 20 and 17 respectively. 

OR 

2. 

. . .d · photeric oxide." Justify Ibis statement 
(B) '"Alum1Wum ox, c ,s an am . . 

giving chemical equation for the reactions involved. 

1 b die State their function in 
23. Name the tissues which form the vascu ar un • 

plants. 

24. (A) 
Draw a ray diagram to show the refraction of a ray of light passing 
through an equilateral glass prism. Mark the angle through which the 

emergent ray bends from the direction of the incident ray and also 

name it. 

OR 

(B) Name the type of lenses required by the persons for the correction of 
their defect of vision called presbyopia. Write the structure of the 
lenses commonly used for the correction of this defect giving reason 

for such designs. 

25. Explain with the help of a flow chart that in human beings father is 

responsible for the sex (male or female) of the child. 

2. 

26. Draw the pattern of magnetic field lines due to a current' carrying straight 
conductor. Mark on it the direction of current in the conductor and the 
direction of the magnetic field developed. Name the rule that helps us to 

1 

1 

2 

2 

2 

determine the direction of magnetic field lines in this case. 2 

• [P.T.O.J 



r-' ------------~ 
f V■ll111111111111 :=--.;,. 

~ - -,y 
~~27-PJJ-~-~111fiTl~-srt'l'fl~'Sl'T-fJ~11if'tl 
27. ~~ l8cm~~~~~~~~~~~<f;T amm:tt a:llt f<r.mfu ~ JITlf -.rn-r .ma i, m ~ ~ <f;) ~ 'Ul':l1 

~? am=-'it~~~~ll"~~~ +2 ~'<liT~ 
'l1m ~ ~ ~ ~ ~ f.Mft<f ~I 

28. ~~ii,r)~~if~~ifffl4t~mat~'<liT~~ 
~~~I 

29. ~ ~ ~ ~ ~ 1fqT t? ~*~~if~ W'ffl ~ t? 
~ 1fRq ~if~*~ .#;l ~ * ~ ~ ~; 
(i) ~.#;l~if 
(ii) ~.#;l~"*~ 

JO. (A) ~~~~~~<Mq;mf?~~'<liT"=fllJafR 
~~-;;n~~~"*~*~i¥&~t1 
;ft.)~ 111t ~ ~ <f;) ~ ~: 
Zn + H3 P04 ➔ Zn3 (P04)i + H2 

~ 

(8) 31Cf~ ~ .#;l ~~I~~~~ om~ 
~ mat ~,t;t•o mu-if.I..,~"* ~if o1rtn \ft~1 

31. ~(~)~~f?GT~~,·~~~~ 
~if~~ 'Sl<li'R ~wa i, 

. 32. f.f;-«t tmrcmt ~~if~ f.r-san * .fF;;f "~".fit~ ~I 
~ S.I. lffif<li '<liT ~ ~ ~ 'Cfft1TT'IT ~I ~ '<liT'lf ~ ~ * S.I. 
lffil'<tiT *~if ~ \ft ~I 

33. ..~)~1'1-i .often if~~ <fl "<li1'f GT~~,~ ,;ftcn lf ~ 311 *.ffq~*~~~<fl~-;f <1e1-if.l..,~~wmmt1 

•31/4/3" • " 
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SE<-1 ION <.: ~ 

, r...; $ Z1 lo JJ ~re short nruwcr l)'pe 
Qutsl1on J O • <1ue•11..,,u,. 11:.•c:t. 

arriu 3 mar"-'• . 'h•"-'u., 

c we: wunl 10 obUJin a virtual mtd 11mgn1llcd image or 1111 objci.:, h -

27. If \'C: ,nirror of focal length 18 cm. whc~c s;ho'.1hJ lhc ohjcq ~ ~:'nil• 

conca . r fonnuln to determine the obJc_c1 ~•Mance for o.n 1rn.a-::-""' 

Use mirro_ od ccd by lhis mirror to Justify your answer. (.'I\ 

nificauon + 2 pr u 
mag ·t,c the most widely used method for rcfinins, '"'rH11c 

28. i'°amc and dcscn 

mct.11s? . fon? In which part of the cell docs 

Whal is the (irSt step of cellular rcsp1ra I s~ of breakdown of glucose in a 

29. it occur? Write the equation for the procc 

humane<:11: 
(i) in the presence of oxygen 

JO. (A) 

(ii) due to Jack of oxygen 
• ? N me and stale the law 

do we balance a chemical equation. a 

Why the balancing of a chemical equation? Balance the 

that suggests 
following chemical equation : 

Zn+ H, PO, ➔ Zn, (PO,h .,. H, 

OR 

l 

3 

(B) Deline a precipitation reaction. Give its example and also express the 

reaction that occurs in the fonm of a balanced chemical equation. 3 

31. Whal arc decompose.rs? Give two examples. State how they maintain a 

baP'anc~ in an ecosystem. 3 

32. Deline lhe tcnn .. potential difference" between two points in an electric 

circuit prrying currc~t. Name and define its S.I. unit. Also express it in 

terms of S.I. unit of '".Ork and charge. 3 

33. State two limitations of electrical impulses in multicellular organisms. 

Why is chemical communication bener than electrical impulses as a 

means of communic:nion ll<:twccn cells in multicellular organisms? 3 

r 
13• [P.T.O.] 
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. _,._: - ~ a; ~ i I ~ ~ S ~ 1'iT t I m '"Pn J~ 1l .l6111fi ~,"-J""" 
J.a. (A) (1) ~ ii ?ll"l • ?1 WWiR $) ~. 

P-r,m f.tq{ra !mJU ii .tll!R -qftmv1 ;#;I mu T 
Jl'iOft., -g) ~ *, .fil ~ ~ w,311 <fiT tr.I I ~ ~I r-t ?1=11 ~ -a W!R ;_(\ Tf{ 0 I jrct ~ 0 q'{ ~ ~ ;#;I ~ ~' 
(in:~ Ff;~ '"1 ~~ii 
mt3lf~m~>m1t1) 

(ii) m l1U ii A.C. ~ mffi ~ ~ 220 V Tf{ ~ t1 ~ ~ ~ ~ cm t ~ ~ wrtt 3ffl1 ~am~~ ii~ ~ ~ cf@ ~ ii <Ir.I ~ ml - ~. qi@ ~ it ~ ~ 3TicR1ll q@<fr.l aR ma i, 
(a) 'fl <Ir.I ~ om qil ~ ~ t? ml t ~ ~ -:nq 

~I 

(b) ~aR~<fi@aR\.fr.!~~mtt? 
( C) j ~ 3,TcR1l! q'@ (!R ~ ~ ~ii~ ~ ~ t, 
~ M ~ n t ~ t 3llcR1ll ii ~ ~ tmi <fil ~ I\R11l ihirai t? 

~ 

(B) (i) ~ lflIT wnfi'lq; ~ii~~ 
Vc!i'R • ~ ~ i f<I; : 

"3114/3" 

(a) M~~il~~ 
1R ~ ~ AB 1R 
~ ~ ~ mi t, 

(b) ~~~~funq;)i) 
~ -« ~ a ~ 
~i, 

(ii) ~ ~ ~ <fiT ~ Tu@ll cii•r~tfll? 
(iii) ~ clil ~ ~ f~n~\!.I 

• II 

s 
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SEC, fON-O 

Qucsrion 1'-los. 34 lo J<1 Hr-c Ion,:; nn<iwc-r ryp..- C:fUC'<111tion<111. J.:.,ct, ~'""'•Hon 

<-:rrrks 5 murk'i. 

J"'. (A) (i) Draw the pallcn1 of lhc 1uugn..:tic l"iclJ linc!'l f11r 

(ii) 

the 1wo parallel straight conductor~ cnrrying ~ 

cutTcnl of same magnitude • 1 • in or,positc 

dirc:ccions as :d1own. Show the direction of I 

magnetic field al u point O which _is equidistant I 

from rhc two conductors. (Consider that the \ 

conduc1ors urc inscncd normal to the pJanc of a 

rcclanguJar cardboard.) 

0 

In our houses we receive A.C. clcctri~ power of 2:-0 V. ln 

electric iron or electric heater cables having three wires with 

insulation of three different colours - red, black and green arc 

used to draw current from the mains. 

(a) What are these three different wires called? Name them 

coJourwise. 

(b) What is the potential difference between the red wire and 

the black wire? 

(c) What is the role of the wire with green insulation in case 

of accidental leakage of electric current to the meta II ic 

body of an electrical appliance? 
5 

OR 

(BJ (i) By using the given 

expcrimenlal set-up. How 

can it be shown that : 

(a) a force is exerted on the 

current-carrying 

conductor AB when it is 

placed in a magnetic 

field. 

,r ,,, 

(ii) 

(b) lhc direction of force 

can be reversed in two 

ways. 

When will the magnitude of the force be highest? 

State Fleming's left hand rule. (iii) 

4/3~ 
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35. (A) fui_ ~ ~ t. ,wil 'A' afn 

'll' ~:nit~I fililft~if ·a· t 
3i'lli: ~ •A. 'R ~ 'U ~ t ;r,R 
~~~iiiR~~11il 
fu.m-a~~I 

J 
... ~ .. ,,. • y 

r, 3"m ' • 1 ---- ' 
(B) 1!'R<1 ll'Rl ;.,i, ~ if f.!ffi iR t mffil iR cl@ ~ 1fi1 ~f ; I -IW~if~~~-1<1<11mtt.r.t~·1fil I ~;i-tlmit? 

' \ 5 " 

4 1 36. {A) <lilt cfifaf.!lftfrr,i; 'A' ~ W. H2SO/c!i '{ll'IP!il'liii(t 'o!R 1R ~ ~ ~ • 'B' ~l~-~ * ~ ~ i\m$R lm ii; I , ~ . \i, ~~<lilt. IC' "iRlill t1 ~ 'C' G6'! fcfi1!. <IA II\~ ' ' . ~~ili<:tllIBa~llltr-ftil;-a\;i'll@"iR@lil 'A', 'B'•~ 'C' cit• , , ,~~~~-l~cl@l~ili· l ' ) ..., . \\\ ~l'A''il'B'ili-r-Ri\~~~~~cfil~~ ' _, 
-~ 

, .~ . ). 
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J5- (A) Name the pari.s 1n:1rkc<l ns 'I\.· 

(B) 

and 'JJ • in tfic givc11 dingrom. 

Write in dcln1I the changes lhat 

• t3k~lac'e in a 1fowcr when the 

producl of~B' reaches 'A" till a 

(h.iit 
0

is Conned. I 

OR 

Jn human female reproductive systdn ;~ate the changes that take 

place once fertilisation has taken place. Write the role of placenta in 

this~ess. What happens when the egg is not f~rtiliscd ? 

36. (A) A carbon compound ·A' on heating with excess cone. H2SO• forms.,a 

compound 'B', which on addition of one mqle of hydrogen gas i,; the 

presence of nickel catalyst forms a compoun<} 'C'. •c•, on 

combustion in air forms 2 moles of carbon dioxide ,and 3 moles of 

water. Identify 'A', 'B' and ·c•. '!D<I .{vrjte. their structures. Giv~ 

chemical equations of the reactions involved. Also state the role of 

s 

s 

concentrated sulphuric acid in the formation of'B' from 'A'. S 

(i) 

(ii) 

OR 

is widely used as a preservative in pickles 

onnula C21-!,i02. This compound reacts with 

et smelling compound 'B'. 

ompound 'A' a~d wnnt'ts structure. 

hemical equation for thc'leaction of• A, with ethanol 

~mpound 'B'. State the role of presence of an acid in 

the, ction . ...-

(iii) i/o 
• ow can we get compound 'A' back from •s•? 

1 ,_.; :, / •. (iv) .l;fow can 'A' be obtained from ethanol ? • • 

1' :...· .. ,,, I 

-., . , . •. '(v_)
4 

Name .the gas prod d h 
' • uce w en compound 'A' reacts with 

'·, • '• ~ ·washing soaa. 
,, , ,• V I 

5 
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l!"f'lmffl 37"" 39n;~-3'Tl1Tfuf/'51cfilUT-3mJTfurlrT-Jft . 

37. ~ ~~ if mil ~ ~./it~ J/1tt ~ ~ ~ ~ 'l1: 1f<fi m?J ~ 

iRMl~iJTl~tR~l);-Wfimif;)~~3Jt{ffi~<f;f.1f<f;lJtlt.l~ 

31'1Gf~tfil;{~~fflifiT"ifi)f/w11WfilM~~lRllJ*,r~ 

cf;) ~ ~, fil;{ ~ ttft-ttft ~ ~
 cf;) oil iflti ~ ;;Jif ifif; ~ ~ il;­

f.tqtta ~ li ~ qTffi Jllfim lITTf if W ~ lR ~ ~:r-g) ~I~ 

~tRJ19.tllll'lR{tJltifiT~~3Jt{~~f.rcf;@r~~ffi 

:l1lnm ifiT ~ ! ' 
(i) ~~~3RtR:rfifiTJ"ffi{9~.;m~:llc!iR<l;-~ifiT~lff'tlT 

~~i, 
(ii) ~ Wf;{UT if m JT<fim ifiT ~ mor t? 

(iii) (A) ~~ifiT~MVfcrr-lil;-~~c:Tlli'IT.tl~~I 

~ 

(iii) (B) ~ if.R if;)~ cl;~~ 3Tira ~I~ 3Tira lR $i 

~~(a),(b)-3m(c)~~: 

ear ~JT<fimifiT~ffl <~~> mort,, 
(b > ~ '5ffim ifiT ~ 'Q'{Jcrcf;r mor i~ 

( c) -@ WfflT cfiT ~ ~ 1moT i I 

38. ~~"$Rcl;~ID'UT{l1[Bq(lf~~~~~i, 

~~;iw~~i~~~cfi'a1mt~if 

~ ml, ~ ifiT llm, ffiTT .00 -~ t f.tiifur if ~ ~ i, ~ 

"J1l<ITTr a,.ml, ll'<RR, ?Ira ~ cl; llfulff'tlT if i:/t ~ ~ i I 

(i) 3.r ~ ~ &ITT<ii<liT:fflj ~ ~lmffiUTBq(l[JITl<f ~ ~ ~i, 

(ii) ~ ~ ~ ~
 (~/~/~) cfiT 3"ffil.i ~, 

Jm am .ti~ t ~ <lil{Ul'~/ 

(iii) (A) ~ (lTclT ! ~~~cl;~~
 (~) ~~mu 

~ .ti ~ i? ~ ~ ifiT :rTli ~ ~ ~ 3"ffil.i ,:ft 

-Ff;~ ~traif~~<nITT:m:.mmt, 

ar~ 

(iii) (B) ~~li ~ ifiTW~JT<i;ltJITl<f ~,;mrri7 ~ 

~if m:r<i@t ~JTT t ~ mftcfi{1lf ~, • 

•11/4/'l • 

2 

2 

2 

2 

I 



lll■ILllll\111111\U 
SECTION-E 

1 ucstJOfl Nos. 37 fo 39 brc Source-ba9c:d/C•sr-basc:d que!lt\on:!f.. 

Q , students in a class took 11 thick sheet of curdbua:rd and made a '!l.tTt.a\\ 

J7. n,c . . cntrc. SuaHght was allowed to fall on this sma\\ hok and thc7 

hole_ 1n its c . rrow beam of white Jig.ht. /\ glnss prism was_ ta\c.cn ~ncl \.h,~ 

obta1nc_d 3 11~
1 owed 10 fall on one of its fuC4;:s. The pnsm was \u":cd. 

38. 

white light was all out of the opposite face of the pnsm 
. h l"ght that coincs • '-

lowly unul t c 1 • Th ·tudicd this bcautifu\ band &--r hgu\ 
s h carby screen. ey s 
oppcared on I e n . . s ectrum of white light. . 
and concluded that ti ts a p. in which this type of spectrum ,s 

(i) Give any one mor,; instance 

observed. . . . the above case? 
(ii) What happens to white hght in to observe a rainbow. 
(iii) (A) List two conditions necessary 

OR 
. h the formation of a rainbow. Mark 

(iii) (B) Draw a ray diagram to s ow 
on it, points (a), (l>) and (c) as given below : 

(a) Where dispersion of light occurs. 

(b) Where light gets reflected internally. 

(c) Where ftnal refraction occurs. _ . 

Common salt is a very important chemical compound for our datly_ hf~. 

It's chemical name is sodium c bride and it is used as a raw matenal ~n 

the manufacture of caustic sod' washing soda, baking soda etc. lt is also 

used in the preservation of pi !cs, butter, meat etc. 

(i) Name the acid and e base from which common salt can be 

(ii) 

(iii) 

obtained. 

State the nat~re. i~ic/basic/neutral) o~ium chloride. Give 

reason for the JU fication for your answer. 

(A) What ha ens when electric current is passed through an 

aqueou solution of sodium chloride (called brine)? Name the 

produ ts obtained along with the corresponding places in the 

electrolytic cell where each of these products is obtained. 

OR 

(iii) (B) ~o~ is washing soda obtained from sodium chloride? Give 

l 
l 

2 

2 

2 

chemical equation of the reactions involved in the process. 2 

. *31/4/3"' 1r.r.o: 
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J9. ~ if~ if ¥J qftira:!, ~ llll' ·~· ~ t, ~ ,i ~ ~ 73'!' ~ 

J'f.f<l<f'l-a~if;«ft1~~~.)~~~~~ 
~ -mft t I l(if; 3'l'T'i t f.i; ~ ~ "a/;t lim<RT * ifR ~ lfflR ~ ~ ~ ~ 
Wl,rq@T"a~t=t~.~·~m!<"a/;t~~W!if{,f;t~t~~ I 
SM! t11 m <f;) w :ir-m -al;t ~ .1 ~ ~H, • , 

t 
(i) ~ fsmn q;J ;im 3ft{ ~ 'l'ft,:mr ~ ~ ID'U ~ ~.,;) ~ 

1"'fff if ...n ffif t I 
(ii) (a) rn; 'i'ifim 3ITT (b) "l1fcn:rRo7 ~~~~I 

(iii) (A) l1R<l' mt{ if rffim <iif * ~ JlinR <f>"R-<f>"R_.) t? ~<:Rf~~ 

~I 

• al~ 

(iii) <B> TfT:rcPrri~,lq; <liT <f>t-r-trr 'W, AA R:t Riic1 ~ ~ ~ mm t1 
(a)~ • 

(b) ·~ 
{c) ~q;)f.t<ifur~ 

(d) ~lR~<fi'GT 

1 

2 

2 



r 39. -,n _lire t.hcre_ arc certain cha.n!!'!''/!~'~!!~·!'!'v~re>nmcnt . . . 
" ,.vh1ch ,vc _resp';'nd _.nppropriotely. -rouching O tlom~-.••;::dd:t~~~hi:s '"::, 

dangerous stru.._u,on tor us. One wuy is to think co ,s • 1 Y 

• possibility_ or burning _and then moving the hund. au: 0 :;;';,:;;Y 
0

~::~~~ 
designed ,n such a_# way lhat we sov<: ourseJr rrom such situations 

itnmcdiately. ,_., . 

(i) Name the action by which we protect ourscJ£ in the situation 

menr(oncd above and defi.nc it. • 

(ii) Write the role o£(a) motor and (b) relay neuron. 

(iii) (A) What are t.he two types or nervous system in hu1nan body? 

Name the coropbnents o£each o£them. 2 

OR 

(iii) (B) Which part o£thc human brain is responsible £or: 

(a) thinking 

(b) picking up a pencil 

(c) controlling blood pressure 

(d) controlling hunger 

• 

2 
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